
 
i.54 

 
e.54

 

 
i.5

1,
2 

 160 

Aluminium spacer
Ø22X8.5
Cod.205090

Knurled collar 
nut M10
Cod.200607

S.S. Pipe N° 1157B
Cod.3015270221

Short helical spring
tensile
Cod.303949001

LV-10 Silencer RHS
Full Black
Cod.3015239410

Strap-in Ø53 Stainless Steel
Cod.300053530

Allen screw
M10X60 T.C.E.I. Z.B.
Cod.200651

Allen screw
M8X20 T.C.E.I. Z.B.
Cod.200722

Carbon Bracket
Cod.0815204001

Knurled collar 
nut M8
Cod.200298

Aluminium spacer
Ø30X13X16.5
Cod.206307

 E57  92R-02 0017

PLEASE REMOVE THE ORIGINAL
GRAPHITE BUSHING
BEFORE ASSEMBLING
THE LEOVINCE LINK PIPE!!

 104 

ART. 15270FB          

KAWASAKI Z900 / Z900 A2 (also fits 35kW & 70kW versions)

SLIP-ON   LV-10   FULL BLACK   APPROVED


	DT-15270FB
	Vista del disegno18
	Vista del disegno19


